Y'YUn 1901 MINN

DV MV = NN 1 NIYNY NINY

25 41
7 2IN0 YOYY N YN DOTA OO IR TIOND PN .2
2@ +b*)=(a—b)*+ (a+0b)? .3

SV Y31 93 MAY .pNYNN DY ty, ..., T1p DAY DYINL MNP NV OT DY WPIN DIWYVNY NN .4
MO ADNN YN 28 NYPAN NNYNIN NNIAPNIY DIYYN 1900 NP L, ..., E1™0 NNV PRV
Y2 .z(t) 2T Oy NHDPY 190NN NX DI - ¢ YIIN SINN NYPIAN DIVD NNIAPNY DYV 190N NX
x(t) 29000 61179 6 Y3 2(t) =5—0=25 PINRD w2 z(t) =0 — 7 = =7 pnwnn S¥ NYNIN
T MYV I PR IR - MNWN 2(1) 1900N Ly, ..., T2 DYIINM TAN T2 £7¥D HIN MINYN N

2(t) = 0 oon

N 990NN TR IR NNV NNOON MOV NIV GMVYN 212X DY MPTH DV NN 190N NNANN .5
JOOY NASNN 9D MINK NINYN

N IYNRD OINYN ON TR IR 7 X 72 2THN Y12 MOINN MANINN DY HD1ON NOLVYA 190N MY .6
NOPNRD NI



